

ON  $(q, r, w)$ -STIRLING NUMBERS OF THE SECOND KIND

UGUR DURAN, MEHMET ACIKGOZ, SERKAN ARACI

ABSTRACT. In this paper, we introduce a new generalization of the  $r$ -Stirling numbers of the second kind based on the  $q$ -numbers via an exponential generating function. We investigate their some properties and derive several relations among  $q$ -Bernoulli numbers and polynomials, and newly defined  $(q, r, w)$ -Stirling numbers of the second kind. We also obtain  $q$ -Bernstein polynomials as a linear combination of  $(q, r, w)$ -Stirling numbers of the second kind and  $q$ -Bernoulli polynomials in  $w$ .

## 1. INTRODUCTION

The Stirling numbers of the second kind  $S(n, k)$  defined by

$$\sum_{n=k}^{\infty} S(n, k) \frac{t^n}{n!} = \frac{(e^t - 1)^k}{k!} \quad (n \geq k; k \in \mathbb{N}_0) \quad (1.1)$$

and their various generalizations have been studied by many mathematicians and physicists for a long time, see [2-8, 10-16]. For example, Broder [2] explored extensively the combinatorial and algebraic properties of the  $r$ -Stirling numbers, which is most cases generalize similar properties of the regular Stirling numbers. Carlitz [4] defined and studied an entirely different type of the generalization of the Stirling numbers, termed weighted Stirling numbers. Corcino *et al.* [6] established several properties for the  $q$ -analogue of the unified generalizations of Stirling numbers including the vertical and horizontal recurrence relations, and the rational generating function. Guo *et al.* [7] derived an explicit formula for computing Bernoulli polynomials at non-negative integers in terms of  $r$ -Stirling numbers of the second kind. Guo *et al.* [8] reviewed some explicit formulas and set a novel explicit formula for Bernoulli and Genocchi numbers in terms of Stirling numbers of the second kind. Kim [10] considered the degenerate Stirling polynomials of the second kind which are derived from the generating function and proved some new identities for these polynomials. Kim *et al.* [11] provided several expressions, identities and properties

2000 *Mathematics Subject Classification.* 11B68, 11B83, 81S40.

*Key words and phrases.*  $q$ -Calculus; Stirling numbers of the second kind; Bernoulli polynomials and numbers; Generating function; Cauchy product.

©2017 Ilirias Research Institute, Prishtinë, Kosovë.

Submitted August 1, 2007. Published January 2, 2008.

The first author is thankful to The Scientific and Technological Research Council of Turkey (TUBITAK) for their support with the Ph.D. scholarship. The third author of this paper is also supported by the research fund of Hasan Kalyoncu University in 2017.

about the extended degenerate Stirling numbers of the second kind and the extended degenerate Bell polynomials. Mahmudov [12] introduced and investigated a class of generalized Bernoulli polynomials and Euler polynomials based on the  $q$ -integers. In addition, he derived the  $q$ -analogues of well-known formulas including the  $q$ -analogue of the Srivastava-Pintér addition theorem. Mangontarum *et al.* [13] introduced the  $(q, r)$ -Whitney numbers of the first and second kinds in terms of the  $q$ -Boson operator and acquired some fundamental properties including recurrence formulas, orthogonality and inverse relations, and other interesting identities. They also obtained a  $q$ -analogue of the  $r$ -Stirling numbers of the first and second kinds. Mansour *et al.* [14] gave an one-stop reference on the research activities and known results of normal ordering and Stirling numbers and also defined associated generalized Stirling numbers as normal ordering coefficients in analogy to the classical Stirling numbers. They discussed the Stirling numbers, closely related generalizations, and their role as normal ordering coefficients in the Weyl algebra. Qi *et al.* [16] investigated a closed form for the Stirling polynomials in terms of the Stirling numbers of the first and second kinds by virtue of the Faà di Bruno formula and two identities for the Bell polynomial of the second kind.

We use the following notations:

$$\mathbb{N} := \{1, 2, 3, \dots\} \text{ and } \mathbb{N}_0 := \mathbb{N} \cup \{0\}.$$

As usual,  $\mathbb{R}$  denotes the set of all real numbers.

Based on the generating series (1.1),  $r$ -analogue of Stirling numbers of second kind is also given by the following generating function:

$$\sum_{n=k}^{\infty} S(n+r, k+r) \frac{t^n}{n!} = \frac{(e^t - 1)^k}{k!} e^{rt} \quad (\text{see [2, 5, 7, 12, 13]}). \quad (1.2)$$

$$(n \geq k \text{ and } k \in \mathbb{N}_0, r \in \mathbb{N})$$

We now give the definitions of some notations of  $q$ -calculus which can be found in [3,12,13].

The  $q$ -analogue of any real number  $x$  is defined by

$$[x]_q = \frac{q^x - 1}{q - 1} \quad (q \neq 1).$$

The  $q$ -derivative operator  $D_q$  of a function  $f$  is considered as

$$(D_q f)(x) = \frac{f(x) - f(qx)}{(1-q)x} \quad (q \neq 1 \text{ and } x \neq 0)$$

provided  $f'(0)$  exists.

For any two functions  $f(x)$  and  $g(x)$ , the product rule of the  $q$ -derivative operator is given by

$$D_q(f(x)g(x)) = g(qx)D_q f(x) + f(x)D_q g(x). \quad (1.3)$$

The  $q$ -binomial coefficients and  $q$ -factorial are defined, for positive integer  $n$  and  $k$  with  $n \geq k$ , by

$$\binom{n}{k}_q = \frac{[n]_q!}{[n-k]_q! [k]_q!}$$

and

$$[n]_q! = [n]_q [n-1]_q [n-2]_q \cdots [1]_q \quad (n \in \mathbb{N}; [0]_q! = 1).$$

The  $q$ -generalization of  $(\lambda + \mu)^n$  is defined by

$$(\lambda \oplus \mu)_q^n = (\lambda + \mu)(\lambda + q\mu) \cdots (\lambda + q^{n-1}\mu) = \sum_{k=0}^n \binom{n}{k}_q q^{\binom{n-k}{2}} \lambda^k \mu^{n-k}.$$

The two different type of  $q$ -exponential functions are given by

$$e_q(t) = \sum_{n=0}^{\infty} \frac{t^n}{[n]_q!} \text{ and } E_q(t) = \sum_{n=0}^{\infty} q^{\binom{n}{2}} \frac{t^n}{[n]_q!} \quad (t \in \mathbb{C}; |t| < 1),$$

which satisfy  $e_q(x+y) = e_q(x)e_q(y)$  for the  $q$ -commuting variables  $x$  and  $y$  such as  $yx = qxy$  and  $e_q(x)E_q(y) = e_q((x \oplus y)_q)$  with  $e_q(-x)E_q(x) = 1$ . We also have  $D_q e_q(t) = e_q(t)$  and  $D_q E_q(t) = E_q(qt)$ .

The  $q$ -Stirling numbers of the second kind are defined by means of the following generating function to be (see [6,12,13])

$$\sum_{n=k}^{\infty} S_q(n, k) \frac{t^n}{[n]_q!} = \frac{(e_q(t) - 1)^k}{[k]_q!} \quad (1.4)$$

which is a  $q$ -analogue of the generating series (1.1).

The generating series

$$\sum_{n=k}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} = \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(wt) \quad (1.5)$$

is our main definition, called  $(q, r, w)$ -Stirling numbers of the second kind, to derive the results of the paper which seems to be a new generalization of Eq. (1.4).

By making use of Eq. (1.5), we investigate some new properties and derive some relations among  $q$ -Bernoulli numbers and polynomials, and newly defined  $(q, r)$ -Stirling numbers. We also obtain  $q$ -Bernstein polynomials as a linear combination of  $(q, r, w)$ -Stirling numbers of the second kind and  $q$ -Bernoulli polynomials in  $w$ .

## 2. $(q, r, w)$ -STIRLING NUMBERS OF SECOND KIND

Recently, analogues and generalizations of the Stirling numbers of the second kind were studied by many mathematicians (see [2-8, 10-16]).

We begin with the following generating function, corresponding to  $q$ -calculus, of the  $(r, w)$ -Stirling numbers, which will have important role to derive the main results of this study.

For  $n, k \in \mathbb{N}_0$  with  $n \geq k \geq 0$ , we introduce the  $(q, r, w)$ -Stirling numbers of the second kind

$$S_{q,r,w}(n+r+w, k+r+w)$$

by means of the following Taylor series about  $t = 0$ :

$$\sum_{n=k}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} = \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(wt). \quad (2.1)$$

**Remark 1.** Setting  $r = w = 0$ , the  $(q, r)$ -Stirling numbers of the second kind reduces to the numbers in (1.4).

**Remark 2.** Substituting  $q$  tends to 1 and taking  $w = 0$ , the Eq. (2.1) turns into the Eq. (1.2).

**Remark 3.** Taking  $r = w = 0$  and  $q \rightarrow 1$  in (2.1), we obtain the classical Stirling numbers of the second kind (1.1).

The  $(q, r, w)$ -Stirling numbers of the second kind satisfy the following properties.

**Proposition 1.** The following relation holds true

$$S_{q,r,w}(n+r+w, r+w) = (r \oplus w)_q^n \quad (n \in \mathbb{N}_0). \quad (2.2)$$

Because of  $S_{q,r,w}(n+r+w, k+r+w) = 0 \quad (k > n)$ , we can write

$$\sum_{n=k}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} = \sum_{n=0}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!}.$$

The following theorem includes a relation between  $q$ -Stirling numbers of the second kind and  $(q, r)$ -Stirling numbers of the second kind.

**Theorem 2.** For  $n, k \in \mathbb{N}_0$  with  $n \geq k \geq 0$ , we have

$$\begin{aligned} S_{q,r,w}(n+r+w, k+r+w) &= \sum_{j=k}^n \binom{n}{j}_q S_q(j, k) (r \oplus w)_q^{n-j} \\ &= \sum_{j=k}^n \binom{n}{j}_q S_{q,r,w}(n+w, k+w) r^{n-j} \\ &= \sum_{j=k}^n \binom{n}{j}_q S_{q,r,w}(n+r, k+r) q^{\binom{n-j}{2}} w^{n-j}. \end{aligned} \quad (2.3)$$

*Proof.* Using (2.1) and Cauchy product rule, we see

$$\begin{aligned} \sum_{n=k}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} &= \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(wt) \\ &= \sum_{n=k}^{\infty} S_q(n, k) \frac{t^n}{[n]_q!} \sum_{n=0}^{\infty} (r \oplus w)_q^n \frac{t^n}{[n]_q!} \\ &= \sum_{n=k}^{\infty} \left( \sum_{j=k}^n \binom{n}{j}_q S_q(j, k) (r \oplus w)_q^{n-j} \right) \frac{t^n}{[n]_q!}. \end{aligned}$$

Comparing the coefficients  $\frac{t^n}{[n]_q!}$  of the both sides yields to the asserted result (2.3).

The other equalities can be shown via the same proof technique above.  $\square$

In the case  $w = 0$ , the formula (2.3) reduces to

$$S_{q,r}(n+r, k+r) = \sum_{j=k}^n \binom{n}{j}_q S_q(j, k) r^{n-j}. \quad (2.4)$$

**Theorem 3.** The following identity holds

$$S_{q,r,w}(n+r+w, k+l+r+w) = [l]_q! \sum_{j=0}^n \binom{n}{j}_q S_{q,r,0}(n+r, k+r) S_{q,0,w}(n+w, l+w).$$

*Proof.* It is proved by making use of the following calculations

$$\begin{aligned}
 & \sum_{n=0}^{\infty} S_{q,r,w}(n+r+w, k+l+r+w) \frac{t^n}{[n]_q!} \\
 &= \frac{(e_q(t) - 1)^{k+l}}{[k]_q!} e_q(rt) E_q(wt) \\
 &= [l]_q! \left( \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) \right) \left( \frac{(e_q(t) - 1)^l}{[l]_q!} E_q(wt) \right) \\
 &= [l]_q! \left( \sum_{n=0}^{\infty} S_{q,r,0}(n+r, k+r) \frac{t^n}{[n]_q!} \right) \left( \sum_{n=0}^{\infty} S_{q,0,w}(n+w, k+w) \frac{t^n}{[n]_q!} \right) \\
 &= \sum_{n=0}^{\infty} \left( [l]_q! \sum_{j=0}^n \binom{n}{j}_q S_{q,r,0}(j+r, k+r) S_{q,0,w}(n-j+w, k+w) \right) \frac{t^n}{[n]_q!}.
 \end{aligned}$$

By comparing the coefficients  $\frac{t^n}{[n]_q!}$  of the both sides of the series above, we complete the proof.  $\square$

The following theorem includes a recurrence relation for  $S_{q,r,w}(n+r+w, k+r+w)$ .

**Theorem 4.** *The following relationship holds for  $q \in \mathbb{R}$  with  $0 < q < 1$  and  $n, k \in \mathbb{N}_0$  with  $n \geq k \geq 0$ :*

$$\begin{aligned}
 & \left( [k]_q! - \frac{q^{n+1}}{q^{n+1} - 1} \right) S_{q,r,w}(n+1+r+w, k+r+w) \\
 &= r S_{q,r,w}(n+r+w, k+r+w) + w S_{q,r,w}(n+qr+qw, k+qr+qw) \\
 & \quad - \frac{1}{q^{n+1} - 1} S_{q,r,w}(n+1+qr+qw, k+qr+qw).
 \end{aligned} \tag{2.5}$$

*Proof.* Inspired by Mahmudov in [12], applying  $q$ -derivative operator  $D_q$ , with respect to  $t$ , to both sides of Eq. (2.1), the LHS (left hand side) becomes

$$\begin{aligned}
 D_q \left( \sum_{n=0}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} \right) &= \sum_{n=1}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^{n-1}}{[n-1]_q!} \\
 &= \sum_{n=0}^{\infty} S_{q,r,w}(n+1+r+w, k+r+w) \frac{t^n}{[n]_q!},
 \end{aligned}$$

and the RHS (right hand side), utilizing the product rule of the  $q$ -derivative (1.3), becomes

$$\begin{aligned}
 D_q \left( \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(wt) \right) &= e_q(qrt) E_q(qwt) \frac{\frac{(e_q(qt) - 1)^k}{[k]_q!} - \frac{(e_q(t) - 1)^k}{[k]_q!}}{(q - 1)t} \\
 &\quad + \frac{(e_q(t) - 1)^k}{[k]_q!} D_q(e_q(rt) E_q(wt)) \\
 &= e_q(qrt) E_q(qwt) \frac{(e_q(qt) - 1)^k}{(q - 1)t [k]_q!} - e_q(qrt) E_q(qwt) \frac{(e_q(t) - 1)^k}{(q - 1)t [k]_q!} \\
 &\quad + r \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(qwt) + w \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) E_q(qwt) \\
 &= \frac{1}{(q - 1)[k]_q!} \left( \sum_{n=0}^{\infty} S_{q,r,w}(n + r + w, k + r + w) q^n \frac{t^{n-1}}{[n]_q!} - \sum_{n=0}^{\infty} S_{q,r,w}(n + qr + qw, k + qr + qw) \frac{t^n}{[n]_q!} \right) \\
 &\quad + \frac{r}{[k]_q!} \sum_{n=0}^{\infty} S_{q,r,w}(n + r + w, k + r + w) \frac{t^n}{[n]_q!} + \frac{w}{[k]_q!} \sum_{n=0}^{\infty} S_{q,r,w}(n + qr + qw, k + qr + qw) \frac{t^n}{[n]_q!}.
 \end{aligned}$$

Matching the coefficients  $\frac{t^n}{[n]_q!}$  of the both sides above, in conjunction with some elementary computations, the desired result (2.5) is derived.  $\square$

The higher order  $q$ -Bernoulli polynomials are defined by the following generating function to be

$$\sum_{n=0}^{\infty} B_{n,q}^{(k)}(x, y) \frac{t^n}{[n]_q!} = \left( \frac{t}{e_q(t) - 1} \right)^k e_q(xt) E_q(yt) \quad (|t| < 2\pi), \quad (2.6)$$

where  $k$  is an integer and  $x$  is a complex number. When  $x = y = 0$  in (2.6), we have  $B_{n,q}^{(k)}(0, 0) := B_{n,q}^{(k)}$  called the higher order  $q$ -Bernoulli numbers. When  $y = 0$ , we have  $B_{n,q}^{(k)}(x, 0) := B_{n,q}^{(k)}(x)$  called higher order  $q$ -Bernoulli polynomials in  $x$ . Obviously that

$$B_{n,q}^{(k)}(x) = \sum_{j=0}^n \binom{n}{j}_q B_{j,q}^{(k)} x^{n-j}.$$

We now give a correlation between the  $(q, r, w = 0)$ -Stirling numbers of the second kind and the higher order  $q$ -Bernoulli polynomials via the following theorem.

**Theorem 5.** For the case  $w = 0$ , the following relationship holds true for  $n, k \in \mathbb{Z}_{\geq 0}$  with  $n \geq k \geq 0$ :

$$\sum_{j=0}^n \binom{n}{j}_q S_{q,r,0}(j + r, k + r) B_{n-j,q}^{(k)}(x) = \binom{n}{k}_q \sum_{j=0}^{n-k} \binom{n-k}{j}_q r^j x^{n-k-j}. \quad (2.7)$$

*Proof.* By utilizing the definitions in (2.3) and (2.6), we readily get

$$\begin{aligned}
 &\sum_{n=k}^{\infty} S_{q,r,0}(n + r, k + r) \frac{t^n}{[n]_q!} \sum_{n=0}^{\infty} B_{n,q}^{(k)}(x) \frac{t^n}{[n]_q!} \\
 &= \sum_{n=0}^{\infty} \left( \sum_{j=0}^n \binom{n}{j}_q S_{q,r,0}(j + r, k + r) B_{n-j,q}^{(k)}(x) \right) \frac{t^n}{[n]_q!}
 \end{aligned}$$

and

$$\begin{aligned} \frac{(e_q(t) - 1)^k}{[k]_q!} e_q(rt) \left( \frac{t}{e_q(t) - 1} \right)^k e_q(xt) &= \frac{t^k e_q(rt) e_q(xt)}{[k]_q!} \\ &= \frac{1}{[k]_q!} \sum_{n=0}^{\infty} \left( \sum_{j=0}^n \binom{n}{j}_q r^j x^{n-j} \right) \frac{t^{n+k}}{[n]_q!}. \end{aligned}$$

Therefore, the claimed result (2.7) is obtained.  $\square$

The following corollary including a relationship the higher order  $q$ -Bernoulli numbers  $B_{n,q}^{(k)}$  and the  $(q, r)$ -Stirling numbers of the second kind is a direct consequence of the previous theorem.

**Corollary 6.** Upon setting  $x = 0$  in (2.7), we get

$$\sum_{j=0}^n \binom{n}{j}_q S_{q,r,0}(j+r, k+r) B_{n-j,q}^{(k)} = r^{n-k} \binom{n}{k}_q.$$

In the year 2010, Acikgoz and Araci [1] constructed the generating function of Bernstein polynomials  $B_{k,n}(x)$  as follows:

$$\sum_{n=k}^{\infty} B_{k,n}(x) \frac{t^n}{n!} = \frac{(tx)^k}{k!} e^{t(1-x)} \quad (t \in \mathbb{C}; k = 0, 1, 2, \dots, n).$$

Based on this series, Gupta *et al.* [9] defined  $q$ -analogue of Bernstein polynomials as follows.

$$\sum_{n=k}^{\infty} b_{k,n}^q(x) \frac{t^n}{[n]_q!} = \frac{(tx)^k}{[k]_q!} e_q\left((1-q)(1-x)_q t\right). \quad (2.8)$$

From (2.8), we have

$$\begin{aligned} \sum_{n=0}^{\infty} b_{k,n}^q(x) \frac{t^n}{[n]_q!} &= x^k \left( \frac{(e_q(t) - 1)^k}{[k]_q!} e_q\left((1-q)(1-x)_q t\right) E_q(wt) \right) \left( \left( \frac{t}{e_q(t) - 1} \right)^k e_q(-wt) \right) \\ &= x^k \left( \sum_{n=0}^{\infty} S_{q,r,w}(n+r+w, k+r+w) \frac{t^n}{[n]_q!} \right) \left( \sum_{n=0}^{\infty} B_{n,q}^{(k)}(-w) \frac{t^n}{[n]_q!} \right) \\ &= \sum_{n=0}^{\infty} \left( x^k \sum_{j=0}^n \binom{n}{j}_q S_{q,r,w}(j+r+w, k+r+w) B_{n-j,q}^{(k)}(-w) \right) \frac{t^n}{[n]_q!} \end{aligned}$$

where  $r = (1-q)(1-x)_q$ . Thus we conclude the paper with the following theorem.

**Theorem 7.** Let  $r = (1-q)(1-x)_q$ . Then we have

$$b_{k,n}^q(x) = x^k \sum_{j=0}^n \binom{n}{j}_q S_{q,r,w}(j+r+w, k+r+w) B_{n-j,q}^{(k)}(-w).$$

**Acknowledgments.** The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

## REFERENCES

- [1] M. Acikgoz and S. Araci, On the generating function of the Bernstein polynomials, *Numer. Anal. Appl. Math.*, International conference **2010**, pp. 1141-1143.
- [2] A. Broder, The  $r$ -Stirling numbers, *Discrete Math.*, **49** (1984), 241-259.
- [3] L. Carlitz,  $q$ -Bernoulli numbers and polynomials, *Duke Math. J.*, **15** (1948), 987-1000.
- [4] L. Carlitz, Weighted Stirling numbers of the first and second kind, *I. Fibonacci Quart.*, **18**(2), (1980), 147-162.
- [5] R. B. Corcino, The  $(r, \beta)$ -Stirling numbers, *The Mindanao Forum*, **14** (1999), 91-100.
- [6] R. B. Corcino, C. Barrientos Some theorems of the  $q$ -analogue of the generalized Stirling numbers, *Bull. Malays. Math. Sci. Soc.*, (2) **34** (3), (2011) 487-501.
- [7] B.-N. Guo, I. Mezö, F. Qi, An explicit formula for the Bernoulli polynomials in terms of the  $r$ -Stirling numbers of the second kind, *Rocky Mountain J. Math.*, 2016, in press; arXiv:1402.2340.
- [8] B.-N. Guo, F. Qi, A new explicit formula for the Bernoulli and Genocchi numbers in terms of the Stirling numbers, *Global J. Math. Anal.*, **3**(1) (2015), 33-36. doi: 10.14419/gjma.v3i1.4168
- [9] V. Gupta, T. Kim, J. Choi, Y.-H. Kim, Generating Function for  $q$ -Bernstein,  $q$ -Meyer-König-Zeller and  $q$ -Beta Basis, *Autom. Comput. Appl. Math.* **19**, 7-11 (2010).
- [10] T. Kim, A note on degenerate Stirling polynomials of second kind, *Proc. Jangjeon Math. Soc.* **20** (2017), No. 3. pp. 319 - 331
- [11] T. Kim, D. S. Kim, Extended degenerate Stirling numbers of the second kind and extended degenerate Bell polynomials, *arXiv:1706.09681v1 [math.NT]* (2017).
- [12] N. I. Mahmudov, On a class of  $q$ -Bernoulli and  $q$ -Euler polynomials. *Adv. Difference Equ.* **2013**:108, <https://doi.org/10.1186/1687-1847-2013-108>.
- [13] M. M. Mangontarum, J. Katriel, On  $q$ -Boson operators and  $q$ -analogues of the  $r$ -Whitney and  $r$ -Dowling numbers, *J. Integer Seq.*, Vol. **18** (2015), Article 15.9.8.
- [14] T. Mansour, M. Schork, Commutation Relations, Normal Ordering, and Stirling Numbers, *Chapman and Hall/CRC 2015*, ISBN: 978-1-4665-7988-0, <https://doi.org/10.1201/b18869>.
- [15] F. Qi, B.-N. Guo, Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials, *Mediterr. J. Math.*, (2017) **14**: 140. doi:10.1007/s00009-017-0939-1
- [16] F. Qi, B.-N. Guo, A closed form for the Stirling polynomials in terms of the Stirling numbers, preprints (2017), 2017030055, doi: 10.20944/preprints201703.0055.v1.

UGUR DURAN, DEPARTMENT OF MATHEMATICS, FACULTY OF ARTS AND SCIENCES, GAZIANTEP UNIVERSITY, TR-27310 GAZIANTEP, TURKEY  
*E-mail address:* mtdrnugur@gmail.com

MEHMET ACIKGOZ, DEPARTMENT OF MATHEMATICS, FACULTY OF ARTS AND SCIENCES, GAZIANTEP UNIVERSITY, TR-27310 GAZIANTEP, TURKEY  
*E-mail address:* acikgoz@gantep.edu.tr

SERKAN ARACI, DEPARTMENT OF ECONOMICS, FACULTY OF ECONOMICS, ADMINISTRATIVE AND SOCIAL SCIENCES, HASAN KALYONCU UNIVERSITY, TR-27410 GAZIANTEP, TURKEY  
*E-mail address:* mtsrkn@hotmail.com